Square Root of a Number:

If n? = m, then n is the square
root of m
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What you will learn about:
Simplify and Use of Square Roots

Radical - \/_

Radicand — Number under the radical

\/M is read as “the square root of m.”

The square root of m, /M, is the positive number whose square is m.
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Estimating Square Roots

Estimate v/ 60 between two consectutive whole numbers.

betwrena 7 end € Closer to ¥,

Estimate v 38 between two consectutive whole numbers.
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Appoximate Square Roots

Use your calculator to find V5. Round to the nearest

hundredth. Q 5 ¥ 41

Round v 58 to two decimal places.
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Simplifying Variable Expressions with Square Roots
z
indvoxz = (X)) = Tx% "—..
Find v9x Gx) 4% = SX

(B = 9
(3x)* 0x2, s0 V9x2 = 3x

Il

V25u® = 5u* because (5u?)’ = 254°
V16r2® = 4r1" because (4»»"“)2 = 16r%

V19647 = 14¢'® because (14¢'8)" = 196¢%
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What you will learn about: T,
Simplify Square Roots t - l
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numbers, then vab = va - Vb. ' = bl
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Simplify a square root using the Li'JS ﬁL'-'- %l
Product property. V500 V288 V432 e o
: Jiag \JI9g - 0 =
Step 1 - Find the largest perfect \Jm ﬁ 144 ]JE [k JE.; 2
square of the radicand. Rewritd lo E 12 ﬁ IJE = J12)
the radicand as a product using ’21. = 14 .1
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Quotient Property of Square Roots

If a, b are non-negative real numbers and b # 0, then

a_va
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